
Study Guide Unit 3

1) Solve the following linear equation
           7x − 9 = ½ (8x + 12)



2) The lines y = x + 5 and y = 1/8 x − 5 are graphed on the axes below.
           How many solutions does the system of linear equations have?

[image: ]




3) Solve the system of equations:

y = x + 2
y = −1/5 x – 4
A. (3, -5)
B. (-5, -3)
C. (-3, -5)
D. no solution





4) Leah has 4 times as many nickels as she has dimes. Altogether, her nickels and dimes have a     value of $1.20. How many of each coin does she have?
Which of the following systems of equations can he use to answer this question if n represents the number of nickels and d represents the number of dimes?

A. n = 4d
     n + d = 120

B. d = 4n
     n + d = 120

C. n = 4d
     5n + 10d = 120

D. d = 4n
     5n + 10d = 120


5) Bill bowled 3 games at a bowling alley and rented shoes, spending a total of $9.00. LeAnn bowled 5 games at the bowling alley and rented shoes, spending a total of $14.00.
        How much does it cost to bowl a game?

A. $1.50
B. $2.50
C. $2.80
D. $3.00

a) Solve each equation.                                                                                                                b) Tell if it has one solution, no solution or infinitely many solutions.                      c) Justify your reasoning. 

6)  a) Solve          5x   +   2   -   3x   =   x   +   6   +   3x


     b) Circle the number of solutions.

one solution			no solution 		 infinitely many solutions

     c) Justify your reasoning
______________________________________________________________________
______________________________________________________________________

Solve by graphing. Show all work.

[image: ]7)     















a) Write a system of equations to answer each question.                                                    b) Solve by any method. Show your work.

[bookmark: _GoBack]8) A test has twenty questions worth 100 points.  The test consists of True/False 
      questions worth 3 points each and multiple choice questions worth 11 points 
      each.  How many multiple choice questions are on the test?
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